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A rectangular block with & = 700 MPa is bonded
to two rigid horizontal plates. The lower plate is
fited, and the upper plate is subjected to a force
P, which causes it to move 0.5 mm. Determine
the shear strain in the plate and the load P.

Determine the strains corresponding to the state of stress shown
knowing £= 200 GPa, & = 76.92 6Pa, and v = 0.3.

In a material with £=10x 10 psi, &= 3.79 =« 10% psi, and v = 0.33, the state of strain at
a point is g = 1500 in./in., Ey= 400 LLin./in., g = -600 Llin./in., ";fw= 1200 1L, Vo™ 0L,
and ¥ =0|L. Determine the corresponding state of stress.

¥

deforming to the element defined by 45 ¥, Determine the
state of plane stress required to cause this deformation

knowing that £= 200 GPa, &= 7?5 GPa, and v = 0.33.

& =00045mm, & =000Z3mm, & =00035mm, & = 00015 mm
xx o X X

5,,@, ¥ I Element 4554 has dimensions of 23 mm « 30.5 mm before
23 mm
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of 2in. = 2.75 in. before deforming to the element
defined by 4 F<¥°, Determine the shear strain
corresponding to this deformation.

P Material element 4754 has original dimensions
o I

X

+ 5x= 0.002 in.

5§, 5g= 0.0024 in.
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6)
-zi.-r.ﬂp Three cables support a rigid beam 4££. End £ of the
‘ beam displaces cable £F by 0.0014 in. In addition, beam
& £ AFL displaces so that it makes an angle of 0.1° as
2 in. 4 in. \I/'Fi"' indicated. Determine the normal strain in each cable.
[ i £ §
0.1° D.gﬂi‘iin.
-
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